Precalculus: 1.8 Linear and Absolute Value Inequalities Graded Homework

Questions

Solve the inequality. Write the solution using interval notation, set notation, and graph it on a number line.
1. 3z —-6>09.

2. 7—5r < -3.

3_4§7—g<3

w
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4. —5(4—56) > 1 and 5(2:3— 20) < 1.
5. |z — 1] > 1.
6. |[4x — 3| < 5.

7. A spherical bearing is to have a circumference of 7.2cm with an error of no more than 0.1cm. Use an absolute
value inequality to find the acceptable range of values for the diameter of the bearing.



